T A BUR UK H b A TS LR

20214E )

SR AN s /A Rt

15 H 447k
FE TR AL TR S S B FH Y LI G B R
i H @ X ALl 15 5 35 14
B 4 S 31.5
T H % 4 + I 1,
it Hodr: Bk 31.5
Hofth % 4
Py . . N
Eé%w%$ﬁﬁﬁ&%%?%#%ﬁﬁﬁi%%
— S HE — S feR EUE ki
R R R R =5
WS T - —
U RS R FKE 5007%
3 25 K =k
REhE Ve S IR 55 T A 100%
G 3D
7 S bR
i RS b 2B ST Jif 100%
(B0 T H $ 52 R R 100%
e E R 3 6. 573 7%
N AT - —
. CISHRPER AR i 517
= K3 2073 7C
H
b Lo A g LTI
LT -
() FabR2:
ﬁﬁgﬁ R RS B e
EK2N
B (LD JekR2:
VeI =
S iﬁgﬁ HpaL:
ERGD
(3D fakr2:
AR (RBESERR IE B AT K
2N
D JekR2:
| BEXR ST >90%
PREARbR | BEREIRRR N
@789} PR =90%

,11,



W A BUR U8 H b A TS LR

(20214F )
5 H 455 PR3
EEERT] A WNTHHE R K it BT TE ) LI s S LR
TH Ja 2w T H 15 H 14
TP 4 RV 96. 6
WiH %4 .
HAh ¥4
SRR AR ISR IRAL 2 B TERE S, HEPERSA MG CRRF, ARE AR AT AE N & e 4. T IE S (A A20214E
BF: |12H31H.
— R Fe bR Bt Ei=T i k7% =0 EisL AN IEh
522 3 B TR B =121
b Q€= 2 .
AT ERD RN 3O
RN R <45 %
BT Kkii N RABILR 100%
» QYY) 2R UFRHEIL bR 100%
P H FE AR X ——
i PR IR SS TR EIkbr R 100%
22 {E I B[] 24/ NI}
NN 42 SPMIES %
A 236 ENPANES 100%
T H 5 e 100%
4% AL b 20 R AR HE 2300/ N/
%( (ﬂ‘iﬁﬁﬁ]&ﬂ%*ﬂ?) ﬁ{%rjﬁ) 96. 6J5 7%
o L JRbRL:
febr —
(3D fahR2:
ﬁf{tﬁ*ﬁ 2R S AE A A 22 4 i i 7 Tt
EEN
(25D fibi2:
Ei=2 ~
(I fabr2:
AR Ui R R R K1
EFETT
(B0 fbr2:
BE =80%
% % R TR 80%
WE R bR W FE AR bR AR >80%
@73

,11,




